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SN 250D
. 2SAL BE Y RHEN BH(2HLBY/2802)
tel: 23ti= JIg &= (et =3
_ _ _ Muo
SN CR(EH) - NRAY - BES 0] &F o e HlE2
Ol=E&st2t 249l XN& 15,000
CLEILREMZ 2EH X& 50,000
FAUZSEAYE 2F - 23 A 67,000
308 XXIEHHSOIH 1,475,000 1,305,000 170,000
2 168,000
Al 1,307,000
01 HXHMBdEES 1,475,000 1,305,000 170,000
S22 2EAR 500,000
ANLZ2otAY 29 - 25 NE 455,000
= 168,000
Al 287,000
T2 SSEAS G2 X2 520,000
401 AlEHIZ 208 1,000,000 5,000,000 24,000,000
01 AlZHI 1,000,000 4,967,000 A 3,967,000
SAMES 2 HE (MH RS 1,000,000
403 XX HMEA=01H 1,465,000 1,000,000 465,000
01 XM= X 1,465,000 1,000,000 465,000
Arat 2stal2t Ag X 475,000
SAUEE ol=2 Hel Ad391E =4 200,000
S22 AME 2= 290,000
=32 XJAHH H 500,000
405 KHaHFESHI 195,000 0 195,000
01 HARESF=H 195,000 0 195,000
Sollsz2 ST 195,000
A (SEAMNE L&) S 195,000
SM2 H2AIRE A 786,200 498,200 288,000
= 249,100
Al 537,100
308 XX HHSOIA 786,200 498,200 288,000
= 249,100
Al 537,100
01 MXEHINELS 786,200 498,200 288,000
-2 EMZ A2 HE 498,200
=2 249,100
Al 249,100
2024 OIS A2t HE 288,000
RIXtALY HEXIZ3(BTL) 1,586,000 1,337,000 249,000
= 622,000
Al 964,000
308 NXISHHSOIE 1,586,000 1,337,000 249,000
& 622,000
Al 964,000
01 XM EEXS 1,586,000 1,337,000 249,000




SM: 2s0ISDt
M 2HAL HE U 22T FH(SIURT/250S)
SHel: 2301 Ol 23 CER-E
_ _ _ Muo
SA - SR(E) - HRAY - B O &t 04 Sl e HDE2
2 A2 BTLAIY ERX== 867,000
= 289,000
A 578,000
SHEEAZ BTLAIY B3R X=S23 364,000
= 169,000
Al 195,000
CHHE M2 BTLAIY ERXS3 355,000
= 164,000
Al 191,000
S0l=Xd X ACEO = 26,111,123 18,016,131 8,094,992
SBXE 1 SHBA DA OGS (44 BA
gold = SHEX 1 83.58 %
= 1,054,870
= 500,000
Il 3,544,000
= 500,000
Al 20,512,253
MEEH S 1 3,219,000 2,705,000 514,000
= 10,000
Al 3,209,000
201 LEH2HH| 24,000 24,000 0
= 10,000
Al 14,000
01 AtR2teld] 24,000 24,000 0
2atsty 29 24,000
= 10,000
Al 14,000
307 ©1210I 3. 145,000 2,681,000 464,000
02 QI3 a2 X 2,845,000 2,681,000 164,000
SeH (2, FI) 60,000
20X LAX R (45) 260,000
Heres X 52,000
SEM XA 305,000
H=H KA 83,000
Ol=x K& 65,000
LBt = AL XI& 914,000
RI208 ST MBS T 30,000
H255 SABAE GEH X 30,000
223 SAALRIHA K& 20,000
H27sl RAA=SHE XA 4,000
2011 Sstol=gs XA 300,000
M85 SaZOINE X2 30,000
DEH HYED K128 RYgABR2 X
2 30,000
- N2gsl 2astIFRE K 30,000
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SN
X XH .
S Tt

oLk

HO FD HO
ton
>
fx
o
Ot

= he

_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
Al 500,000
307 2120l & 1,000,000 0 1,000,000
& 500,000
Al 500,000
02 QI2tAAEx 1,000,000 0 1,000,000
2012 Satdl el Jixl =4l 1,000,000
& 500,000
Al 500,000
Zetils 243 N 328,500 328,500 0
= 40,000
Al 288,500
308 NXISHHMSOIE 328,500 328,500 0
= 40,000
Al 288,500
01 UHXSHHBLE4E2ES 328,500 328,500 0
AE2sttizns 28 =14 26,500
Zote| Hich- ¢ Ol=2 2gdl X& 200,000
2atstn 2 X3 102,000
= 40,000
Al 62,000
SAIHAIHM(EX) 500,000 500,000 0
= 100,000
Al 400,000
307 2120l & 500,000 500,000 0
= 100,000
Al 400,000
02 YIS ExX 500,000 500,000 0
Sa4IMAIH KIS 500,000
= 100,000
Al 400,000
A =HEE M 300,000 400,000 100,000
= 100,000
Al 200,000
307 2120l & 300,000 400,000 100,000
= 100,000
Al 200,000
02 QI3 aE XL 300,000 400,000 A 100,000
SN EH XS 300,000
= 100,000
Al 200,000
ANSEHM A X 3,690,270 3,885,500 A195,230
201 LEt=gH| 44,270 40,000 4,270
01 AtR2teld] 44,270 40,000 4,270
SAXNS 2S5 =M SEEES MH 30,000
SHEAXE S| 10,000




SM: 280D
HE: AL HE U 232N SN (SHUDY/250S)
o9l 2SUEXR L AR =0 CrRL
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
ERYA ST B 4,270
CEEE 20,000+76% 1,520
SSIIEE:: 50,000%55% 2,750
202 01t 4,000 3,500 500
03 =oIYR 0t 4,000 3,500 500
ZLS LA JIEAL #A &} 4,000
307 212+0IH 3,642,000 3,842,000 200,000
02 QIIAMNBE 1,642,000 1,642,000 0
=RIX 2 1,400,000
- W63 SAHICIE T 1,000,000
- H125] RAZHEHAEY HE 400,000
=4 GHE0l - S0l BRI KIS 200,000
£ 2012 HQLOI SASH X 100,000
CRAAIRIS B EHEA R 20,000
=0l BH K 80,000
SaRF LRI HE 42,000
04 DIRISALRE 2,000,000 2,200,000 200,000
=HX 2 1,600,000
SEESIbE] 200,000
CH7E RAMHEREH OHE(FHEFX
) 1,000,000
- H78 HOIIIRQE WA 400,000
MLts HEHER K 400,000
AR R H AL 200,000 200,000 0
307 2120l H 200,000 200,000 0
04 QIAEALRE 200,000 200,000 0
R6s RAZHHZHALEL X2 200,000
2LEHLS X 290,000 290,000 0
307 2120/ H 200,000 200,000 0
02 pIANBABE 200,000 200,000 0
SARZIEH K 200,000
308 X+XIEHHI SOl & 90,000 90,000 0
01 MXSHZAHSES 90,000 90,000 0
o2l Y SN X 30,000
HOILEFRSRER KR 30,000
H2HRHSH X 30,000
ZHSMA HAB S 20,000 1,000,000 980,000
401 AEHILS ] 20,000 1,000,000 980,000
01 Al&d| 20,000 1,000,000 980,000
ZHSHA HAZ AE 2R 0L 20,000




PN 230=1
HH: BSAE &5 L 2= S (2oL 2Z/28H0=)
tel: 23t=XE 2 AYEH =2 (ctel &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
A2 A 2 X3 (KA 7,859,000 3,436,000 4,423,000
= 450,000
Al 7,409,000
306 EH3 3,873,000 2,700,000 1,173,000
01 £33 3,873,000 2,700,000 1,173,000
M BEa NS 3,000,000
2 234 EX 873,000
307 212t0I& 3,986,000 736,000 3,250,000
= 450,000
Al 3,536,000
05 2IIRAE S 3,986,000 736,000 3,250,000
St ES <IE s2Es XN& 50,000
THSAA StL23tWF ALY K& 900,000
= 450,000
Al 450,000
ROt 2stas A 160,000
FoHsgs XA 24,000
IESAAL SALZE 23| 150,000
AL gdst XI& 300,000
Esl==20F A2 FHES N 90,000
2o EE ALY OHE X2 12,000
Fotat Al&rAl AL XIJ 30,000
AQHE =S& W YT Ftlzws XA 70,000
geoles RA4Es AY 100,000
=0 &322t 24 X 2,100,000
—?—;&—E—@IH':F £ L X2 (ILZ0H0I=2F AL THA A 855,740 867,518 A11,778
&
= 427,870
Al 427,870
307 QI2t0IA 855,740 867,518 211,778
= 427,870
Al 427,870
05 BItRE = 855,740 867,518 211,778
2011 224=20F Ol=Z A X2 A 855,740
= 427,870
Al 427,870
SA42EHE 29 L TR (MIZMzns XH) 294,000 144,000 150,000
= 147,000
Al 147,000
307 QI2t0IA 294,000 144,000 150,000
= 147,000
Al 147,000
05 BIZtRE = 294,000 144,000 150,000
MIIAAHE 23llzn=E K 294,000




M Z3t0=n
HH: ZoAE 25 L 23=N S (SL2Z/250=)
2ol EilsXE X AU =

22
J2

20
B
2

= 147,000
Al 147,000
A2STHE 0 160,000 160,000
p] 80,000
Al 80,000
307 212H0|H 160,000 160,000
p 80,000
Al 80,000
05 QI2tPIera 160,000 160,000
SAAZEIS 2SHRE 160,000
p 80,000
Al 80,000
SRS X U K2 76,000 76,000
)
p 30,000
Al 46,000
307 212H0|H 76,000 76,000
p 30,000
Al 46,000
05 QI2teIEra 76,000 76,000
EQuas H e 76,000
p 30,000
Al 46,000
A2SHHE Z 0 (S21712t 22/0t2 08 180,000 180,000
s Xe)
= 130,000
Al 50,000
307 21210|H 180,000 180,000
= 130,000
Al 50,000
05 QI2t9IEra 180,000 180,000
Lelotet 20t oFelAte 180,000
= 130,000
Al 50,000
22T B0 X NESIEIE:D 200,000 200,000
p 100,000
Al 100,000
307 21240|H 200,000 200,000
p 100,000
Al 100,000
05 BI2teIE3 200,000 200,000
TN ESS] 200,000
p] 100,000
Al 100,000
MBI E &0 560,000 560,000




SN 282D
HH: 2FAL HE U SHX SFH(SHUDY/25H002)
Sl 2HUSXH L ARIEN 2O (el &
_ _ MNuE o
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
Il 280,000
Al 280,000
307 QI2t0IA 560,000 560,000 0
Jl 280,000
Al 280,000
05 2IIRAE =S 560,000 560,000 0
Doy 4FCH SHEZRIY 2Y 400,000
Il 200,000
Al 200,000
DS FESH ALY 160,000
| 80,000
Al 80,000
SASHE £ U NA(ANSA 2F2H35 X 200,000 200,000 0
)
| 100,000
Al 100,000
307 QI2t0IA 200,000 200,000 0
| 100,000
Al 100,000
05 BItRE = 200,000 200,000 0
XA 2YBLE X 200,000
Il 100,000
Al 100,000
SARSME 2 L N2 (XNG2st0ls SAXR) 1,442,000 1,442,000 0
J| 556,000
Al 886,000
307 BI2HOI 1,442,000 1,442,000 0
| 556,000
Al 886,000
05 BItRE = 1,442,000 1,442,000 0
Ne2stls SS9 1,442,000
Il 556,000
Al 836,000
SUZIME 20 L N (ZSHRHALY X&) 3,140,000 0 3,140,000
Il 2,198,000
Al 942,000
307 2I2H0IF 3,140,000 0 3,140,000
| 2,198,000
Al 942,000
05 BIZtRE = 3,140,000 0 3,140,000
akeldal EpSPN = AR 3,140,000
Il 2,198,000
Al 942,000
PU42EHE 26 @ XNJ(ZY NG230=sL= 300,000 0 300,000
AHE Y
= 150,000
Al 150,000

_10_
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S 23
Mz HNE
S Tt — o
NE
—_ o

el

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

AXNE2e g siiEse &4 154,000

=X E 23 E+=FH| 2,857,859 6,366,000 A3,508, 141
2,000,200
857,659

= W

403 A XIEHSXH=01H 2,857,859 6,366,000 3,508,141
2,000,200
857,659

= W

01 RXISHHA=EEX 2,857,859 6,366,000 3,508, 141
LS BTN AT AX 150,000
105,000
45,000
HOA A SAHEZH(LATHT) HH) 50,000
35,000
15,000
sAC P24 138,571
2 97,000
Al 41,571
SO FAGX 2L YRAY 4,000
2 2,800
Al 1,200
SA R AT EELUS B2 HA A 4,000
2 2,800
Al 1,200
HABINT Ha 54,288
38,000
16,288
AZIOYN B2 B4 =22 5,000
3,500
1,500
HOAF SUSZ2R | 20,000
2 14,000
Al 6,000
SN QLS G B5AY 3,000
2,100
900
2HME BLFY| 2,429,000
1,700,000
729,000

= W

= W

= W

= W

= W

= W

SRELESIM HAMATRS 116,000 146,000 230,000

69,600
46,400

= W

308 AHXIEHSOIA 116,000 116,000 0

= 69,600
Al 46,400

01 MXEHHMBSELS 116,000 116,000 0
QM A H| eI X 116,000
= 69,600




SN 20z
My ®

SE2
ol S22

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

Al 46,400

3 S22l XA 130,735 80, 120 50,615

78,441
52,294

= W

308 AXISHSOIA 130,735 80, 120 50,615

78,441
52,294

= W

01 MXEMISELS 130,735 80, 120 50,615
=3 S 2eld| 130,735

= 78,441
Al 52,294

23t MHESTHAIAE 25 81,000 60,000 21,000

56,700
24,300

= W

308 AXISHSOIA 31,000 6,000 25,000
21,700
9,300

= W

01 MXEMISELS 31,000 6,000 25,000

gatate] 2HXE 20,000
14,000
6,000
SIAIE SR 2 11,000
= 7,700
Al 3,300

=

403 AXIHHSK=201H 50,000 54,000 24,000

35,000
15,000

= W

01 XM= EE 50,000 54,000 24,000

HOIAN HSHF=H Yote ZEMY 50,000
35,000
15,000

= W
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